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1. The two values of = for which the vectors (z2, 1, 3) and (1, —5x, 2) are perpendicular

are
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2. The plane passing through the point (0, 1, 0) and parallel to the plane  +y — 2z = 3
intersects the z-axis at the point:
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3. The arc- length of the curve defined by 7(t) = (¢, 9 t2,t) for —1 <t <1is
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5. Find the equation of the line that 5 the pOmt (1, 2, 1) and that is parallel to
tlﬁgﬁctor tangent to the curve 7(t) = (t° +3t+2, et cost, In(t + 1)) at (2, 1, 0).
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6. A partlcle starts at the origin with initial velocity i — 7. Its acceleration is alt) =

ti 1] + k. Find its position at t = 1. —
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7. Using the linear approximation to f(z,y) = /22 + 3y at the point (4, 3), the approx-
imate value of 1/(4.02)% + 3(2.97) is:
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8. If z = sin(zy), = = 7t?, and y = h(t) with h(1) = } and A/(1) = 2, what is d_j when
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9. The directional derivative of f(z,y,2z) = y?e® * at the point (3,1,2) in the direction
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10. The function f(z,y) = 222 + 62y + 3y* has:
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11. Reverse the order of integration to compute / / e¥’ dydz. =1
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12. Find the absolute maximum and absolute minimum values of f(z,y) = z* + y* + 2y
on the elhpse z? 4 2y? = 8.
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) C. max is 8, min is —2

D. max is 9, min is —2

E. max is 9, min is —4
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